CS 240 Circuit Herbology Name

1a. Karnaugh Map 1b. Minimal sum of products expression:
F(A,B,C,D) =
2. Encoder 3. Switching Network (it fits here!)
4. Draw circuits on next page, text answers here. 4c¢(i) Sign bit of A-B gives correct result for A<B.
Example:
4b. Result =
A= B=
4c¢(ii) Sign bit of A-B gives incorrect result for A<B.
4e. (Briefl) Example:
A= B=
Reason:




4a(i-iv) Condition Flags, 4c(iii) Less-Than Flag, 4d Equals Flag. Label outputs clearly.
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CSAPP3e Homework Problem 2.77

A. (x*17):

B.

—~

xX*-7):

C. (x*60):

D. (x*-112):

CSAPP3e Homework Problem 2.82

A (x<y) == (-x>-V)
B. ((x+y)<<4) + y-x == 17*y+15*x)
C. ~x+~y+1l == ~ (x+y)

D. (ux-uy) == - (unsigned) (y-x)

E. ((x > 2) << 2) <= x




